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A.LISTENING CBEREHENSION : (08 MARKS)

1. Listen and tick [] the right alternative (0.5 Mark)

> <

-
)

> <

-
> < o9

-
)

> <

-
&

& The text deals with:

> <

-
&

a. Air pollution O

> <

-
> < o9

-
&

b. Land pollution O

> <

-
&

c. Water pollution O

> <

-
> < o9

-
&

2. Listen and say whether the following statements are true or false (01.5 Marks)

> <

-
&

a. All the living creatures depend on water. S
b. It's up to all of us to help keep water clean. B

c. The proper dumping of rubbish can’t help us to ensure the good quality of water. S

> <

-
&

> <

-
> < o9

-
&

> <

-
&

3. Find in the text a word having nearly the same meaning as (01 Mark)

> <

a. Dangerous means:

-
5

> <

b. Garbage means:

-
&

> <

-
&

4. Listen and complete the following paragraph (01.5 Marks)

4 )

Business can keep our waters clean by building waste water plants in our

> <

-
&

> <

-
> < o9

-
&

home towns. These treat water by removing the

> <

-
&

in it.
\ J
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A @ Pronunciation: &
v v
K 2\
N a. Listen and find in the text words having the same sounds as: (02 Marks) N
> /ei/ >
& €l /1y / &
1 Whale Fishing &
K 2\
.;’ :.3?
3 3
& 7 /- &
v v
28 b. Circle words with different sounds: (01.5 Marks) .28
iz& » waste - water - make iz&
3 3
& _ &
y » plants - offenders - particles M
& &
V - . . V
éé » discharging - change - chemicals é‘
> >
& &
> >
& . &
v B.LANGUAGE : ‘ 12 MARKS! v
) 1. Fill in the blanks with words from the box. There is an extra item (03.5 Marks) )
& &
\{ \{
é;. disappear — homes — who — our — logging — because — protect — which “ ~§.
> >
125 &
x / x
125 &
) A change is coming in the forest. Scientists are trying to make the )
125 &
\{ \{
A . . A
423 companies stop cutting trees. They say that we must &
\{ \{
é;. the wildlife. The forest is a beautiful place people should be able ~§.
\ \{
N . L . :
& to enjoy. Everything is going to be changed when all the trees are cut &
\ . v
A animals, water and trees depend on each other. Many plants and 2
SS% 2y
> animals will . This can even affect climate. ‘X
i35 &
1 Scientists also think that loggers should leave many trees so that small X
y animals will have . In fact, both loggers and forest scientists Y
& : . &
X. are trying to agree on things. v
& &

> <
> <

".
&

> <
-
> < 8ep
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2. Circle the right alternative (03.5 Marhs) 120
v;’
2]
/ !.f
Pollution is a man-made problem. Because (of — for - to) his selfishness and -%‘
A
his irresponsible behavior, man is doing irreparable harm to the environment. Just X
look around and see what we have done to our planet. The air, the land, the sea, N
oceans and rivers are now very polluted. (Because — Therefore - And) we must 'f
do something to save the earth. First of all, we have to plant more and more trees. "i’
(However — But - Besides) we have to recycle waste and invent alternative *’3"
3
sources of energy (where —who - which) are less polluting than oil. Above all, we ‘%‘
- - A
(may — must — can’t) conduct as many environment campaigns as we can to ‘.%-
. . 3
(made — make - making) people aware of the (threatened - threatening - &
\{
threats) facing our plants. §.
2y
3. Read the following conversation, focus on the underlined utterances and write v
them in front of their functions in the table below (02.5 Marks) i“‘s,i
3
@ Passenger 1: Excuse me, sir. Could you out your cigarette, please? 1
o)
2y
& Passenger 2: I'm sorry, | beg your pardon. M
&
\{
@ Passenger 1: Never mind. | hate the smell of tobacco. It puts me off. &
>
& Passenger 2: yeah, | don't like it, either and I'm thinking of giving it up. "3;'
o)
2y
& Passenger 1: Thinking? You can’t handle matters this way. | advise you to )
&
have a stronger will if you really want to quit smoking. It may cause many health :
&
problems. v
&
. . \{
& Passenger 2: Yes, you're right. | must be more determined. 28
Functions Utterances ‘%‘
o)
2y
& Advice >
&
& Intention ‘Z‘
2y
\{
& Polite request é‘
>
&
\{
3
&
>
® 97 ~form 3 &
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)

=

N
',.

D> < &

"A
5

& Possibility

".
S0 > <

® obligation

> <

"A
)

=

e
',.

> <

4. Write the appropriate questions or answers. There is one extra answer: (02.5
Marks)

"A
)

> <

e
%

O®As soon as | see smoking, | need to smoke, too.

> <

"A
)

=

®How do you know you are addicted?

N
',.

> <

-
)

©The cigarettes may cause lung cancer.

> <

-
)

@I quitted once, but after two days, | started to smoke again.

> <

-
> < i"

O And when did all this begin?

-
)

> <

-
)

®Because I'm addicted.

> <

-
)
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> <

-
)

Pk

\{
3
#Charles: Why do you smoke? &b

> <

-
)

2Smoker:

> <

-
)

> <

-
)

> <

-
)

*Charles:
2Smoker: Because | need to smoke two packs a day.

s#%Charles: How do you know when you want to smoke a cigarette?
2Smoker:

#*Charles:

> <

-
> < i"

-
)

> <

-
)

> <

-
)

> <

-
s'g

2Smoker: In my teens and I'm now 53 and feeling the harmful effects of my habit. :
.3&
3

-
)

> <

-
)

> <

-
)

> <

-
5

[

s#%Charles: Why didn’t you think of stopping that nasty habit?
2Smoker:
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